EARAROBREBRT —5 XN—ZXBISH—F

20215128315 (&) 210EME3E

B c2= v5x3mt

\(9&1@1 n ‘[%EH%F&] | & 1000 =

[AE%] 1% :600,000 . 27&5:240,000 W  33%&:150,000 § . 43&:90,000H  53&:60,000 9

B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1,5 =1 3 | SNEEF 1:32.4 1-2-1-1 [ 40.6 | — 1 456 | FRERSE (BH)
118/ 9|FITa AN = 56.0 ) +6) ”(ﬁ) i‘/j—“—b—yyd‘
RiFA4—=TFAVINTN B:AVF—UILA /=Y ITr—1L
<, KFFEH : -8-6- - WIEE (FkR)
20717 | BADVIvwT ) (15}§f4£) o6 |42 10 (4513) SHES
R:ITSvIIAR B:ZY/F—Za-) Ll RE
N t 4 | AEE 1:34.5 9-9-9-9 |40.7 | — 8 49 | BNSFE (BH)
3)1[1 | TIOF 25— ! 7%53.0 a1/2 3 | T7—2kEvay
R:/ITURN BIPRFa-) #HBT7—L
— = N P LLIASIEFE] : -3-3- - LSS (FEk)
4 —y AU R v 4 L 1(7311; 3-3-3-2 | 42.4 3 gezz) woes
RiFAIXIv— 8:7S5vTA7N—h #HEI77—LA
5 FAUAYR—O o3 ’éﬁé‘ﬂ;ﬁim 1( 73?:)7 7-7-87 |45 - | 7 (4_647) %ﬁﬁ;gg (B
R:Z2MOVITUI—Y B:FSUY— =2E IEE
o < 3 | KLUBEKER 1:34.8 4-4-4-4 | 42.3| — 5 | 418 |WWOFE (#f)
6 ovyruy e 753.0 G/2) 1 | @ J PN
R:OvizZdr—R #:09FUVER /=Y Tr—I
» {E2ARTHRE : -5-5- - XBE= (BEH
; JU Y IR—1Is w4 | B RS I I A sl e
RiNZ—ka1—R B:IA49IF7XAZv b L]
S5 ) —F—3y g s 4 | ALEE 1:35.4 9-10-10-10 [ 41.5 | — 9 | 491 |GEEXER (RH)
8|8[10| ZIV—E—>3Y 5.0 4 ) |EERE
R:ALVYISvoE B:STU—NO—R ESHIT7—L
. - EEL } P _ EAE— (T
9 6 R AIHIL—5 4 4 56.0E 1(.33/54.)5 6-6-7-8 | 42.5 6 412)3 11&53%—
R:ZAIJU—=vbe—0O— B:F3VIAHILS EUFHT7—L
— 5 s 3 | EHAR 1:35.7 1-1-2-3 [43.9| - 2 493 | #iFHE (BH)
10/5|5 |7 bPIL=5 L 56.0 ) ) |ERLE
RiTSvIIA4R B:TI—LA HERARS
@ 11— —BERIEI
13—7F— (5,9 ,3,(2,4),6,8,7,(1,10)
20—F— 5,9,3,2,4,6,8,7,1,10
IT=5r= 9,5,3,2,4,7,6,8,1,10
4A0—F— 9.3,5,2,7.,4,8,6,1,10
0 ILRE
BB 9 150/ JA R 7-9 5,470 & 7-8 2,180H 3ER 1-7-9 92,910H
B B 9 130 1-9 1,950/ o 18 7-9 17,020 3Es 9-7-1 267,430
7 2,200 1-7 19,360/ oS- 1 9-7 13,770
1 1,250M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




